Calculus - Exponentials /Eogarithms Review Name: )’(e‘/\ Hr:

Describe the transformation'riéeded to transform the graph of h(x) = 2% into the graph of the given function.
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Sketch a graph of each function .
5. h(x)=37% 6. f(x)=2%"3 - 7. g(x) =—-2logx+5 8. f(x)=-2e*+1
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Solve each equation. Give exact answers, then use a calculator to find an approximate answer.
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13.5% =4 1537 %41=17




-Evaluate the given expresswn without usmg a calculator.

16.log, 32 17.log, V4 18. log.s 4 19.log, 1 ‘
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20. log,, 9 21. log,, x° 22.logs — — 23. 1neis
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Use the propertles of logarlthms to expand the following expressions completely.
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29. log3 x+ log3 y—2 10g3 z

Write the expression as a single loganthm (condense). _ |
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30. -;—logs 16 + 3logs(x — 1) —logs(x + 2) / /43;

( 0D ) /
\/ .#—3
Solve for x without a calculator.
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